| N of simulated tracks vs dxy |

gParticles

Trackin

10?

10

ot-vo

Rat

0.95

= ﬁﬁ """ % """" -
- . . R . . y . . A
R Y g,
-—----:-J;L-TJ:‘FE. ----------------------- A - t}‘h"-: ------
i T
1§.il A IIII --------------------- 4

5 -20-15-10 -5

10 15 20 25
TP dxy (cm)

0 5

N of associated tracks (simToReco) vs dxy |

Rati

=
o
w
I

Reconstructed TPs

=
o
N

10

ot-vo

=
!
L
=
g ——— e
o B

520 -15-10 -5

10715720 25
TP dxy (cm)

—s— DOQM_V000I_RO0O000000I__Global

N of simulated track

—e— DQM_V0001_R000000001__Global

—+— DQM_V0001_R000000001__Global
—.— DQM_V0001_R000000001_Global

mKkFitOriginal__RECO
mkFitNewDett__
mkFitNewDett33__RECO
mkFitNewDett04__ RECO

RECO

Recons@cted TPs
o

=
o

PRI YRR B MR B 1 A

[72] C .
o) 5 5 5 5
o 5 5 5 5
Fuotp S S
8107 e
= E é:: n"é
P R O S
2 5 % 5
C 4 i i
10t S S S —
g +,+: L iy
s 1| 5 | s
]_l— R EEEETTEEPPES EEPPPEEEPEES PEPRRE 4 £
I e
e LE
'S ||||||I§|l||||‘H§ !
0.95, i

-30

20 30
TP dz (cm)

=20 -10 0 10

ot:vo

Rati

0.9

=
LI B

5

30

10

20 30
TP dz (cm)



	Contents
	Page 1


